ISB A 3 Montage
ISB A 3 Installation

Safety

Solutions

1M1 12

Systemkomponenten
1 Spulenkern SPK 10/12 9
2 Spulenkern SPK 9 10
3 Montagewinkel links 11
4 Montagewinkel rechts 12
5 Stahlseil @ 3mm 13

mit PVC-Ummantelung
6 Kernmontageplatte 14
7 Kernbodenwinkel 15
8 Spannfeder mit 16

eingelassenem Gewinde

HansastralRe 52 « D-59557 Lippstadt

16 13 \‘

76 92 1

Spannschraube M8x100mm
Erdungsklemme

Kausche

Seilklemme

Schraube M6x10mm

mit Scheibe

Muttern M8
Unterlegscheiben A8,4mm
Schrauben M4x10mm

12.DB.09.021 Technische Daten Rev 2

www.asosafety.de ¢ e-mail: aso-eu@asosafety.com 12.DB.09.021 Technical data rev 2

“5“ Safety
Solutions

12 4y

System Components

AN WN =

N O

SPK 10/12 coil core 9 M8 x 100 mm tension screw

SPK 9 coil core 10 Earthing clip
Angle plate left 11 Thimble
Angle plate right

Steel cable @ 3mm x 20m 13 M6 x 10 mm screws
with PVC mantle with washer

Core mounting plate 14 M8 nuts

Core angle plate
Threaded tension spring

12 Cable clamp

15 A8.4 mm washers
16 M4 x 10 mm screws

Stand 24.10.2019 Technische Anderungen vorbehalten 'l'i.N
as of October 24th 2019  Technical changes reserved (@E@ﬁ)

DIN EN ISO 9001:2000



